Number System and its Operations
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SECTION -1
Straight Objective Type

%

=5"\14-6.5
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=5" (9 -5)

3-5)

— 51/4
Hence, (b) is the correct option.
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Hence, (b) is the correct option.

Ja+2\a—1+ya-2ya-1
—2a-1

Hence, (d) is the correct option.
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21’4(\/§+\/§):k(\/§+\/§)
(o 2) 5]

k — 2]]4
Hence, (b) is the correct option.

Let x:\/6+«[6+«¢6+\/§ -———a

X=+/6+X

x> =6+X

X*—x—6=0

(x—3)(x+2)=0

x=3 or -2

Hence (d) is the correct option

Y22 +3-31-2=-1
Hence, (d) is the correct option.
If (4+15)" —(4-VI5)" =kv6

(4+\/]3)3/2—(4—\/]3)3/2:9\/§

k=9
Hence, (c) is the correct option

x=2+\/§, xy=1
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X y
X 2-y
x=2+\/§
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2+3 . 2-3
J3+1 J3-1
eTm m
(2+8) (-]
2+x/§+1 2+1—J§
(28] 2(2-6)
3+43 3-3
)

Hence, (a) is the correct option.
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1 1
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10.

U

11.

2b=a+c
a, b, carein AP
Hence, (a) is the correct option

If p=32-24 q=+/50-48
1 1 32 +24

b 32-J24 8

42+2B 22+
4 2

EZ\/%+«/E

q 2

:5ﬁ+4\/§=i+2\/§
2 2

1 2 B3

_:_+_

p 2 2

1 5

—=—+2x/§

g 2
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_>_

q p

a<p

pP=>q
Hence, (b) is the correct option

If %ﬂ:mﬁ then (a,b)

4433 _ 4433 _4+33x(6-1)
J7r2d6 B+l 6l
=-1+12

a=-1b=12

Hence, (c) is the correct option
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12.

13.

14.

Rationalising factor of
(Q/a_2+ 3b? +€’/%) is (3’/5—3/5)
Hence, Rationalising factor of 316 + 34 +1

=341

Hence, (c) is the correct option.

If x=301,y412,2=8A3

14
x=(11)3"
L C. M of 2z =12
121

13
12
7=(13)s2

4
x =112
3

y =122

2
z=13%
X = 12 114
y — 12’123
7 =¥13

Hence, (b) is the correct option

1 1 1 1
43,5%,6%,8°
LCMof3,4,6 =12

14 13 13 1
37 545 543 3

437 5456438
4 3 3 4

412 512 612,812

4
7
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15.

16.

17.

¥256,%9125,%4/216,44096
1

54 is the smallest number among the Numbers
Hence, (b) is the correct option.

X= &yzﬁﬁj:ﬁ%

111
52,104,6°

1 56 1\2}103 1\2/6_4
¥/15625,%1000, 41296
X>y>z
Hence, (c) is the correct option.

If x=%/§,y=<‘/l_l,z=1\2/1_7

L.C.Mof3,4,6=12

14 13 12
9§X7 1 175 , 17EXE

4 3 2
912 112 1712
¥lo* ¥h1® ¥h7?
¥6561,%/1331,%/289
X>y>1z

Hence, (a) is the correct option.

a+ X++2ax + X2
a+x+«/x(2a+x)

%[2a+2x+21fx(2a+ x)}
%[x+2a+ x+2ﬂfx(2a+ x)}
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18.

19.

20.

\/a+x+\/2ax+x2
_\/x+2a+x+2,/x(2a+x)

2

Jx ++2a+x
NA

Hence, (c) is the correct option.
17 +288 = {17+ 2472
=\3+242.

EE

—1+42

Hence, (d) is the correct option.

2 2
(26+15V3)° +(26-1543
=14
Hence, (d) is the correct option.

1 1
If x=2+23+43
1 1

X—2=2%+43

it 1011
(x-2) = 2+4+3.23.43.[23 +43J
=6+3.2(x-2)
=6+(6x-12)

X} —8—6x>+12Xx =6x—6
X} —6x° +6x=8-6
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21.

22.

U

23.

=2
x* —6x* +6x=2
Hence, (c) is the correct option.

3+\E
53 - 2412 —/32+50
_ 3+4/6
53223 32452
3+\E 2\/5

T 53-43-32+5V2

Hence, (c) is the correct option.

_Ja+2b++a-2b
Ja+2b—-+a-2b
»\/a+2b

a-2b

If n

X+1
X+1

(x+1)2+(x—1)2 _a+2b+(a-2b)

(x+1)2(x_1)2 (a+2b)—(a-2b)

Hence, (d) is the correct option.

The value of

(20+14\/§)31 +(2o—14\/§)31 =2
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24.

25.

26.

Hence, (a)

is the correct option.

If n—2\/§+«/_

1

x2\/_

%(H;j:

J_—2I+\/'
E[(2ﬁ+)ﬁ)+(2ﬁ—;ﬁ)}

:A—\/z=2x/§=\/§

Zz

Hence, (c)

1

is the correct option.

2

X=3+33+33

1

2

x—3=3%+3°

(-5 |

FR AN
33+33]

X° —27+27x—9x* =3+9+9(x—3)
X3 —Ox? +27x—27=12+9x—27
3x? —9x? +18x =12

Hence, (b)

is the correct option.

J12- /68 + 4842

= \/12—x/68+ 2:/576x 2

— 12— \J68+ 22448

8+2 24 %48

N

:\/12— 26 +2V12

=2+2
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U

U

28.

29.

Hence, (a) is the correct option.

Let 38+1745 = x-+fy

X° +3xy =38,17+/5 = fy (y +3x*)
y=5

x°+3.x(5)=38

x® +15x =38

3x2 +5=17

3x* =12

x> =4

X=%42

Hence, $38+175 =245

Hence, (b) is the correct option.

3

N w

(4+15)? +(4-15)7 = P10
(4+\F) +(4 \E)2+

2 (4B (o- 41‘5)5 £

2

2(64+34 ):
Z(64+12x15) = lg)’

(64-+180) =5P”

224 =5p?
P=7
Hence, (a) is the correct option.

Let x:\/12+\/12+\¢12+\/12+ _
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x=\/12+\j12+x/12+ﬁ -
X =12+ X

x> =12+x

x*—x-12=0

(x—4)(x+3)=0

X—4=0 or x+4=0

x=4 x=-3

Hence, (c) is the correct option.

30. 2, B, 4
1 1 1

251 351 51
12 12 1
ZEXE, 3EXE, 52
2 2 1
24, 34, 5¢
Ja, 5, 5

Hence, (c) is the correct option.

U

SECTION - 1I
Assertion - Reason Questions

31. Ja-p’=Ja-b
Ja_ [a
b \b
Hence (c) is the correct option.
32. \/]3 , \/ﬁ,«/ﬁ are pure surds
$/320 =¥/32x10 =332 x %10
= 2510

Hence (a) is the correct option.
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33.

34.

35.

36.

J3<10<¥6
412 /50 - 7./48
=8J3-5\2-28\3
=-203-5{2

Hence (a) is the correct option.

V14 x21=.[29y

(since ﬁxxﬁ:ﬁ)

iy =

Hence (a) is the correct option.

(5—x/§) +(5+«j§) =10 is rational

(5—%)(5+ ﬁ) =25-3=22 is also rational
Hence (5—\/5 ) and (5+ «/§) are conjugate surds

Hence (a) is the correct option.

5+2J§X7—4J§
7+4J3 7-43

_ 35+14+/3-204/3-8x3

49-48
=11-6y3=a+b\3
a=11

1+42  1-2

BB BB
_B5+\10 -3 -6 +\5-\10 + 3 -6
5-3
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37.

38.

39.

40.

7(+5-6)
Z
=\65-\6=-0213

Hence (a) is the correct option.

x=5+2\/§
x+%=(5+2\/§)+(5—2\/§)=10

(a+b)(a-b)=a’-b?
Hence (b) is the correct option.

J75=53

53 x+/3 =5x3=15 which is rational
J3 isRF.

Hence (b) is the correct option.

J10 =3.162

1 1
—=—--=0.316
V10 3.162

336 =33x3x2x2

Hence (b) is the correct option.

43312+ 275
=4J3-6/3+103=83
4/81-83/216 +15.3/32 + /225

=3-8.6+15.2+15
=3-48+30+15=0
Hence (b) is the correct option.

SECTION -1l
Linked Comprehension Type
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41.

42.

43.

44.

45.

f 528 _ . v 3
7+43

5423 7-43

7443 7-43
—35+14./3-203-24
—11-643

a=11 b=-6

Hence (a) is the correct option.

x+%=(5+2ﬁ)+(5—2%)=10

Hence (b) is the correct option.

2\/§ - \/5 is a rationalising factor of 2\/5 + \/5
(26582 ) ~(25) (]

=12 -5=7 which is rational
Hence (c) is the correct option.

Newria
=\J11-27x4
_J7-

2
Hence (a) is the correct option.

J15-x/14 =B -7
15— x\14 =15-2./56
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46.

47.

48.

49.

50.

=15-414
Xx=4
Hence, (c) is the correct option.

J(2x=3)+2x* —3x+2

=\/x—1+x—2+2 (x-1)(x-2)

:\/H(x_l)+J(x—z)T
B W

Hence (a) is the correct option.

Let 37-3 0B =x—\fy

x* +3x* =37 and W(y+3x2) =303
y=3, 3x*+y=30

3x* =27

x=3,y=3

Hence (c) is the correct option.

3 3
(4+\/1_5)2 +(4—\/1_5)2 = p/10
P=7
Hence (c) is the correct option.

JoB=1142 =3-2

Hence (a) is the correct option.

111
104,63%,32
13 14 11

10?5 , 6§XZ , 3§X€
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51.

52.

53.

L.C.M of2,3,4=12
o 6" KT
31000,%91296,%/729

Hence, \E is the smallest number
Hence, (c) is the correct option.

.45.46
3369

1,2,3

1 1 1
23 56 69
LCM.of3,6,9 =18

16 13 12
236 5673 692
7 45 45
We4 125,936

% is the smaller surd
Hence, (b) is the correct option.

11 1
33,86,25°
16 13 12
3§X€ , 8EX§ ’ 25§X§
SERR G PLR
¥729,%512625
3@ is the smaller surd
Hence, (b) is the correct option.

2+ 21
RN AN e
V2+1 2-1
Z-1 241

Then x+y=
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54.

55.

(321
2-1

=2(2+1)=6

Hence, (c) is the correct option.

2 1 1
Jio+2921 \1i2—2435 +\/8—2J1_5
~ 2 ~ 1 . 1
(TR T
2 1 1
TVTB T B3
7B fie\B B

G- B

=0

N o

Hence (b) is the correct option.

If x =§ then
3
1+x 1+7

1++1 ’ J
+ 1+ X
1+ 1+23

1+x=1+£= 2+\’l§=4+2\/§

2 2 4
- 4+2x/§:\/3+1
\l 4 2
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Hence,

2+\/§

1+x 2 _2+\E

Leirx | B+l 3+48
2
2+ B)<(3- )

9-3
_6+3/3-23-3 3+
6 6
Hence (a) is the correct option.

SECTION - [V
Matrix - Match Type
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(
|
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